“

4 . |
DRAWING MADE IN THIRM ANGLE PRGJECTION l 3 hd 2 !

I
THIS DRAWING 1S UNPUBLISHED. | RELEASED FOR PUBLICATION NEEE i REVISIONS -
© COPYRISHT 18 BY AM > INCORPORATED. ALL INTERNATIONAL RIGHTS RESERVED. BD 39 P|F| ZONE | LTR DESCRIPTION DATE APPD
f F | REVISED & REDRAWN PER ECN 2364 M P
. ' #4-40 SLIDE LATCH SCREW ' #4 FLAT WASHER
2 PLC 4 PLC
) ' () #4-40 HTX NUT
| OPEN \ Ay PLc
165 DI/\—i
' ) .600 E -— -1 - —— -
‘ 1 L 415%.01 : ‘
| I | u__
» . #4 LOCK WASHER
- —. 276 MAX *

“SLIDE LATCH
2 PLC

. 1. PARTS PACKAGED UNASSEMBLZD.
" /2\ PARTS PACKAGED AS # 'UNIT KIT.
/3

PARTS IND{VIDUALLY BULK PACKED & SHIPPED AS A UNIT PACKAGE. OBSOLETE VN PRI A 505945-4
/AN ZINC FLATED PER ASTM 1623, TYPE 11, CLASS SCI, %OBSOLETE : #4-40 N 506942-3
YELILOW CHROMATF. . » #4-40 | @\ 206942-2
/5, ZINC PLATED PER AST4 3633, TYPE 1il, CLASS SCI, ' A #4=40 |\ 206942-1
CLEAR CHROMATE. v [ . HARONARE T%%:'U PACKAGING T pART MO
(/1% THIS KIT CAN BE USED WITH ONE-PIECE STRAIGHT/45°

AMP I AMP INCORPORATED

Hare-isbarg, Po. 17105

EXIT CABLE CiLAMPS, ONE -PIECE STRAIGHT/30° EXIT
CABLLE CLAMPS, OR ON COHNNECTORS WITHOUT CABLE CLAMPS,

_KIT, “WO-PIECE SLIDE LATCH,
SIZES 1 THRU 4, AMPLIMITE ®

08 [~ F3on NO DRAWING NO v y
e APPichYION SPeC - B 01)7?9 205942
L ‘ TABLE Im?n = isc-u 4.1 SHEET 7 0F 1 )
Hp 1470-15 REV 3-87 \l/ : ] : - . CUSTOMER DRAWINC

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/parts/227917/206942-1.html

